Bid Item	DESCRIPTION	EST. QTY.	I Inia	Gregory Elec	tric CO. Inc.	Harris-McE	Burney Company	Steele & As	sociates, Inc.
No.	DESCRIPTION	EST. QTY.	Unit	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
1	Mobilization	1	LF	\$67,000.00	\$67,000.00	\$28,428.00	\$28,428.00	\$113,029.00	\$113,029.00
2	8" HDPE (DR 11) Directional Bore	30	LF	\$29.39	\$881.70	\$30.90	\$927.00	\$50.00	\$1,500.00
3	6" HDPE (DR 11) Directional Bore	9450	LF	\$16.45	\$155,452.50	\$20.50	\$193,725.00 *	\$37.20	\$351,540.00
4	4" HDPE (DR 11) Directional Bore	80	LF	\$9.77	\$781.60	\$15.76	\$1,260.80 *	\$20.00	\$1,600.00
5	2" HDPE (DR 11) Directional Bore	750	LF	\$6.32	\$4,740.00	\$10.09	\$7,567.50 *	\$12.00	\$9,000.00
6	6" HDPE (DR 11) Open Cut	550	LF	\$9.90	\$5,445.00	\$17.46	\$9,603.00 *	\$21.00	\$11,550.00
7	8" - 45 degree bend	2	EA	\$439.47	\$878.94	\$481.01	\$962.02	\$475.00	\$950.00
8	6" - 45 degree bend	14	EA	\$387.57	\$5,425.98	\$597.40	\$8,363.60	\$305.00	\$4,270.00
9	6" - 22 1/2 degree bend	3	EA	\$429.47	\$1,288.41	\$597.40	\$1,792.20	\$305.00	\$915.00
10	6" - 90 degree bend	11	EA	\$443.25	\$4,875.75	\$667.44	\$7,341.84	\$315.00	\$3,465.00
11	6" - plug	2	EA	\$125.00	\$250.00	\$350.20	\$700.40	\$78.00	\$156.00
12	6" x 6" Tee	14	EA	\$724.80	\$10,147.20	\$1,207.16	\$16,900.24	\$610.00	\$8,540.00
13	6" x 4" Reducer	1	EA	\$368.00	\$368.00	\$578.86	\$578.86	\$270.00	\$270.00
14	4" x 2" Reducer	1	EA	\$374.94	\$374.94	\$302.82	\$302.82	\$155.00	\$155.00
15	8" Gate Valve	1	EA	\$1,339.46	\$1,339.46	\$1,802.50	\$1,802.50	\$1,320.00	\$1,320.00
16	6" Gate Valve	42	EA	\$946.88	\$39,768.96	\$1,174.20	\$49,316.40	\$930.00	\$39,060.00
17	4" Gate Valve	1	EA	\$876.24	\$876.24	\$1,112.40	\$1,112.40	\$755.00	\$755.00
18	16" x 6" Tapping Sleeve	2	EA	\$9,237.88	\$18,475.76	\$2,781.00	\$5,562.00	\$3,250.00	\$6,500.00
19	12" x 6" Tapping Sleeve	9	EA	\$2,373.22	\$21,358.98	\$2,369.00	\$21,321.00	\$2,310.00	\$20,790.00
20	12" x 8" Tapping Sleeve	1	EA	\$2,809.77	\$2,809.77	\$2,575.00	\$2,575.00	\$2,880.00	\$2,880.00
21	6" x 6" Tapping Sleeve	1	EA	\$2,047.16	\$2,047.16	\$2,472.00	\$2,472.00	\$1,850.00	\$1,850.00
22	Air Release Assembly	2	EA	\$1,857.34	\$3,714.68	\$2,163.00	\$4,326.00	\$1,875.00	\$3,750.00
23	2" Blowoff Assembly	2	EA	\$1,293.59	\$2,587.18	\$947.60	\$1,895.20	\$880.00	\$1,760.00

Bid Item	DESCRIPTION	EST. QTY.	l loit	Infratech	Corporation	Spectrum Und	erground, Inc.	D.R. Swa	nson Co.
No.	DESCRIPTION	EST. QTY.	Unit	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
1	Mobilization	1	LF	\$25,000.00	\$25,000.00	\$68,490.00	\$68,490.00	\$22,570.00	\$22,570.00
2	8" HDPE (DR 11) Directional Bore	30	LF	\$42.22	\$1,266.60 *	\$53.00	\$1,590.00	\$40.10	\$1,203.00
3	6" HDPE (DR 11) Directional Bore	9450	LF	\$23.95	\$226,327.50 *	\$24.10	\$227,745.00	\$21.00	\$198,450.00
4	4" HDPE (DR 11) Directional Bore	80	LF	\$18.28	\$1,462.40 *	\$20.00	\$1,600.00	\$17.40	\$1,392.00
5	2" HDPE (DR 11) Directional Bore	750	LF	\$10.59	\$7,942.50 *	\$12.25	\$9,187.50	\$11.50	\$8,625.00
6	6" HDPE (DR 11) Open Cut	550	LF	\$15.30	\$8,415.00 *	\$21.00	\$11,550.00	\$20.80	\$11,440.00
7	8" - 45 degree bend	2	EA	\$335.40	\$670.80	\$475.00	\$950.00	\$199.00	\$398.00
8	6" - 45 degree bend	14	EA	\$369.20	\$5,168.80	\$471.00	\$6,594.00	\$157.00	\$2,198.00
9	6" - 22 1/2 degree bend	3	EA	\$370.54	\$1,111.62 *	\$486.25	\$1,458.75	\$165.00	\$495.00
10	6" - 90 degree bend	11	EA	\$375.52	\$4,130.72 *	\$476.50	\$5,241.50	\$157.00	\$1,727.00
11	6" - plug	2	EA	\$114.48	\$228.96	\$215.00	\$430.00	\$90.00	\$180.00
12	6" x 6" Tee	14	EA	\$409.80	\$5,737.20	\$712.50	\$9,975.00	\$396.00	\$5,544.00
13	6" x 4" Reducer	1	EA	\$458.99	\$458.99	\$439.00	\$439.00	\$141.00	\$141.00
14	4" x 2" Reducer	1	EA	\$150.48	\$150.48	\$231.00	\$231.00	\$98.00	\$98.00
15	8" Gate Valve	1	EA	\$1,333.20	\$1,333.20	\$1,498.00	\$1,498.00	\$1,430.00	\$1,430.00
16	6" Gate Valve	42	EA	\$974.79	\$40,941.18	\$1,119.00	\$46,998.00	\$1,130.00	\$47,460.00
17	4" Gate Valve	1	EA	\$720.54	\$720.54	\$884.00	\$884.00	\$920.00	\$920.00
18	16" x 6" Tapping Sleeve	2	EA	\$1,201.26	\$2,402.52	\$2,844.00	\$5,688.00	\$3,620.00	\$7,240.00
19	12" x 6" Tapping Sleeve	9	EA	\$926.60	\$8,339.40 *	\$2,762.00	\$24,858.00	\$3,000.00	\$27,000.00
20	12" x 8" Tapping Sleeve	1	EA	\$1,066.56	\$1,066.56	\$2,912.00	\$2,912.00	\$3,880.00	\$3,880.00
21	6" x 6" Tapping Sleeve	1	EA	\$671.22	\$671.22	\$2,492.00	\$2,492.00	\$2,670.00	\$2,670.00
22	Air Release Assembly	2	EA	\$1,506.60	\$3,013.20	\$1,987.00	\$3,974.00	\$3,020.00	\$6,040.00
23	2" Blowoff Assembly	2	EA	\$657.11	\$1,314.22	\$948.00	\$1,896.00	\$970.00	\$1,940.00

Bid Item	DESCRIPTION	FOT OT/	11-2	Volt Information	on Sciences, Inc.	Southeastern Comm	nunication Service, Inc.	Rusty Plum	bing Co., Inc.
No.	DESCRIPTION	EST. QTY.	Unit	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
1	Mobilization	1	LF	\$2,160.00	\$2,160.00	\$137,982.20	\$137,982.20 *	\$15,056.00	\$15,056.00
2	8" HDPE (DR 11) Directional Bore	30	LF	\$41.04	\$1,231.20	\$82.47	\$2,474.10 *	\$55.50	\$1,665.00
3	6" HDPE (DR 11) Directional Bore	9450	LF	\$25.68	\$242,676.00	\$33.22	\$313,929.00 *	\$27.00	\$255,150.00
4	4" HDPE (DR 11) Directional Bore	80	LF	\$19.76	\$1,580.80	\$27.27	\$2,181.60 *	\$25.50	\$2,040.00
5	2" HDPE (DR 11) Directional Bore	750	LF	\$6.80	\$5,100.00	\$16.03	\$12,022.50 *	\$15.00	\$11,250.00
6	6" HDPE (DR 11) Open Cut	550	LF	\$13.17	\$7,243.50	\$19.06	\$10,483.00 *	\$15.00	\$8,250.00
7	8" - 45 degree bend	2	EA	\$393.12	\$786.24	\$463.90	\$927.80	\$275.00	\$550.00
8	6" - 45 degree bend	14	EA	\$497.88	\$6,970.32	\$847.75	\$11,868.50 *	\$240.00	\$3,360.00
9	6" - 22 1/2 degree bend	3	EA	\$466.56	\$1,399.68	\$294.89	\$884.67 *	\$240.00	\$720.00
10	6" - 90 degree bend	11	EA	\$526.28	\$5,789.08	\$394.50	\$4,339.50 *	\$240.00	\$2,640.00
11	6" - plug	2	EA	\$37.80	\$75.60	\$130.18	\$260.36	\$125.00	\$250.00
12	6" x 6" Tee	14	EA	\$946.24	\$13,247.36	\$652.72	\$9,138.08 *	\$490.00	\$6,860.00
13	6" x 4" Reducer	1	EA	\$455.05	\$455.05	\$568.92	\$568.92	\$175.00	\$175.00
14	4" x 2" Reducer	1	EA	\$141.60	\$141.60	\$244.29	\$244.29	\$150.00	\$150.00
15	8" Gate Valve	1	EA	\$1,626.10	\$1,626.10	\$1,351.54	\$1,351.54	\$1,500.00	\$1,500.00
16	6" Gate Valve	42	EA	\$1,066.34	\$44,786.28	\$1,227.72	\$51,564.24 *	\$1,125.00	\$47,250.00
17	4" Gate Valve	1	EA	\$924.85	\$924.85	\$784.76	\$784.76	\$840.00	\$840.00
18	16" x 6" Tapping Sleeve	2	EA	\$2,004.89	\$4,009.78	\$3,889.05	\$7,778.10 *	\$6,800.00	\$13,600.00
19	12" x 6" Tapping Sleeve	9	EA	\$1,824.49	\$16,420.41	\$4,296.19	\$38,665.71 *	\$3,650.00	\$32,850.00
20	12" x 8" Tapping Sleeve	1	EA	\$1,861.53	\$1,861.53	\$4,834.84	\$4,834.84	\$4,363.00	\$4,363.00
21	6" x 6" Tapping Sleeve	1	EA	\$1,695.36	\$1,695.36	\$4,745.02	\$4,745.02	\$2,830.00	\$2,830.00
22	Air Release Assembly	2	EA	\$1,694.48	\$3,388.96	\$2,436.11	\$4,872.22 *	\$3,500.00	\$7,000.00
23	2" Blowoff Assembly	2	EA	\$600.88	\$1,201.76	\$769.07	\$1,538.14	\$750.00	\$1,500.00

Bid Item	DESCRIPTION	EST. QTY.	Unit	Stellas Undergrou	and Contracting, Inc.	Westra Cons	truction Corp.	Stately Con	tractors, Inc.
No.	DESCRIPTION	ES1. Q11.	Unit	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
1	Mobilization	1	LF	\$100,000.00	\$100,000.00	\$72,000.00	\$72,000.00	\$91,260.00	\$91,260.00
2	8" HDPE (DR 11) Directional Bore	30	LF	\$84.00	\$2,520.00	\$176.00	\$5,280.00	\$27.00	\$810.00
3	6" HDPE (DR 11) Directional Bore	9450	LF	\$21.70	\$205,065.00	\$26.15	\$247,117.50	\$20.50	\$193,725.00
4	4" HDPE (DR 11) Directional Bore	80	LF	\$28.55	\$2,284.00	\$46.45	\$3,716.00	\$18.50	\$1,480.00
5	2" HDPE (DR 11) Directional Bore	750	LF	\$15.00	\$11,250.00	\$10.80	\$8,100.00	\$11.00	\$8,250.00
6	6" HDPE (DR 11) Open Cut	550	LF	\$17.00	\$9,350.00	\$28.00	\$15,400.00	\$13.80	\$7,590.00
7	8" - 45 degree bend	2	EA	\$815.00	\$1,630.00	\$360.00	\$720.00	\$845.00	\$1,690.00
8	6" - 45 degree bend	14	EA	\$930.00	\$13,020.00	\$250.00	\$3,500.00	\$900.00	\$12,600.00
9	6" - 22 1/2 degree bend	3	EA	\$930.00	\$2,790.00	\$255.00	\$765.00	\$900.00	\$2,700.00
10	6" - 90 degree bend	11	EA	\$936.00	\$10,296.00	\$258.00	\$2,838.00	\$900.00	\$9,900.00
11	6" - plug	2	EA	\$486.00	\$972.00	\$79.00	\$158.00	\$700.00	\$1,400.00
12	6" x 6" Tee	14	EA	\$1,740.00	\$24,360.00	\$448.00	\$6,272.00	\$1,000.00	\$14,000.00
13	6" x 4" Reducer	1	EA	\$810.00	\$810.00	\$227.00	\$227.00	\$1,030.00	\$1,030.00
14	4" x 2" Reducer	1	EA	\$540.00	\$540.00	\$127.00	\$127.00	\$750.00	\$750.00
15	8" Gate Valve	1	EA	\$1,728.00	\$1,728.00	\$1,700.00	\$1,700.00	\$1,850.00	\$1,850.00
16	6" Gate Valve	42	EA	\$1,701.00	\$71,442.00	\$1,375.00	\$57,750.00	\$1,515.00	\$63,630.00
17	4" Gate Valve	1	EA	\$972.00	\$972.00	\$1,270.00	\$1,270.00	\$1,150.00	\$1,150.00
18	16" x 6" Tapping Sleeve	2	EA	\$2,754.00	\$5,508.00	\$4,052.00	\$8,104.00	\$1,880.00	\$3,760.00
19	12" x 6" Tapping Sleeve	9	EA	\$1,998.00	\$17,982.00	\$3,577.00	\$32,193.00	\$1,800.00	\$16,200.00
20	12" x 8" Tapping Sleeve	1	EA	\$2,322.00	\$2,322.00	\$4,160.00	\$4,160.00	\$1,940.00	\$1,940.00
21	6" x 6" Tapping Sleeve	1	EA	\$1,917.00	\$1,917.00	\$3,775.00	\$3,775.00	\$1,425.00	\$1,425.00
22	Air Release Assembly	2	EA	\$1,512.00	\$3,024.00	\$3,065.00	\$6,130.00	\$1,960.00	\$3,920.00
23	2" Blowoff Assembly	2	EA	\$626.00	\$1,252.00	\$766.00	\$1,532.00	\$765.00	\$1,530.00

Bid Item	DESCRIPTION	EST. QTY.	Unit	D.V.M. Ut	ilities, Inc.	Cornerstone B	Businesses, Inc.	Fountair	n Eng. Inc.
No.	DESCRIPTION	ESI. QIY.	Unit	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
1	Mobilization	1	LF	\$50,000.00	\$50,000.00	\$92,305.00	\$92,305.00	\$51,000.00	\$51,000.00
2	8" HDPE (DR 11) Directional Bore	30	LF	\$84.60	\$2,538.00	\$45.60	\$1,368.00	\$83.77	\$2,513.10
3	6" HDPE (DR 11) Directional Bore	9450	LF	\$34.35	\$324,607.50	\$24.90	\$235,305.00	\$29.77	\$281,326.50
4	4" HDPE (DR 11) Directional Bore	80	LF	\$29.80	\$2,384.00	\$19.90	\$1,592.00	\$26.55	\$2,124.00
5	2" HDPE (DR 11) Directional Bore	750	LF	\$22.00	\$16,500.00	\$14.10	\$10,575.00	\$9.68	\$7,260.00
6	6" HDPE (DR 11) Open Cut	550	LF	\$35.00	\$19,250.00	\$17.80	\$9,790.00	\$27.86	\$15,323.00
7	8" - 45 degree bend	2	EA	\$475.00	\$950.00	\$529.00	\$1,058.00	\$1,623.70	\$3,247.40
8	6" - 45 degree bend	14	EA	\$375.00	\$5,250.00	\$381.00	\$5,334.00	\$1,496.79	\$20,955.06
9	6" - 22 1/2 degree bend	3	EA	\$375.00	\$1,125.00	\$389.00	\$1,167.00	\$1,498.34	\$4,495.02
10	6" - 90 degree bend	11	EA	\$380.00	\$4,180.00	\$381.00	\$4,191.00	\$1,507.36	\$16,580.96
11	6" - plug	2	EA	\$127.00	\$254.00	\$351.00	\$702.00	\$1,176.64	\$2,353.28
12	6" x 6" Tee	14	EA	\$430.00	\$6,020.00	\$610.00	\$8,540.00	\$1,569.78	\$21,976.92
13	6" x 4" Reducer	1	EA	\$350.00	\$350.00	\$366.00	\$366.00	\$882.91	\$882.91
14	4" x 2" Reducer	1	EA	\$215.00	\$215.00	\$235.00	\$235.00	\$717.43	\$717.43
15	8" Gate Valve	1	EA	\$1,430.00	\$1,430.00	\$1,782.00	\$1,782.00	\$2,418.03	\$2,418.03
16	6" Gate Valve	42	EA	\$1,250.00	\$52,500.00	\$1,369.00	\$57,498.00	\$2,112.35	\$88,718.70
17	4" Gate Valve	1	EA	\$1,025.00	\$1,025.00	\$1,016.00	\$1,016.00	\$1,878.48	\$1,878.48
18	16" x 6" Tapping Sleeve	2	EA	\$5,200.00	\$10,400.00	\$5,488.00	\$10,976.00	\$4,362.08	\$8,724.16
19	12" x 6" Tapping Sleeve	9	EA	\$4,800.00	\$43,200.00	\$4,251.00	\$38,259.00	\$3,836.84	\$34,531.56
20	12" x 8" Tapping Sleeve	1	EA	\$5,560.00	\$5,560.00	\$5,028.00	\$5,028.00	\$4,594.46	\$4,594.46
21	6" x 6" Tapping Sleeve	1	EA	\$4,600.00	\$4,600.00	\$2,893.00	\$2,893.00	\$3,572.05	\$3,572.05
22	Air Release Assembly	2	EA	\$3,615.00	\$7,230.00	\$11,557.00	\$23,114.00	\$5,039.07	\$10,078.14
23	2" Blowoff Assembly	2	EA	\$1,975.00	\$3,950.00	\$1,345.00	\$2,690.00	\$2,889.56	\$5,779.12

Bid Item	DESCRIPTION	EST. QTY.	Unit	Strickler	Bros, Inc.	R.A.W. Constru	uction, LLC**
No.	DESCRIPTION	ESI. QIY.	Unit	Unit Price	Extended Price	Unit Price	Extended Price
1	Mobilization	1	LF	No Bid	No Bid	\$35,000.00	\$35,000.00
2	8" HDPE (DR 11) Directional Bore	30	LF	No Bid	No Bid	\$45.00	\$1,350.00
3	6" HDPE (DR 11) Directional Bore	9450	LF	No Bid	No Bid	\$25.00	\$236,250.00
4	4" HDPE (DR 11) Directional Bore	80	LF	No Bid	No Bid	\$23.00	\$1,840.00
5	2" HDPE (DR 11) Directional Bore	750	LF	No Bid	No Bid	\$17.00	\$12,750.00
6	6" HDPE (DR 11) Open Cut	550	LF	No Bid	No Bid	\$25.00	\$13,750.00
7	8" - 45 degree bend	2	EA	No Bid	No Bid	\$750.00	\$1,500.00
8	6" - 45 degree bend	14	EA	No Bid	No Bid	\$650.00	\$9,100.00
9	6" - 22 1/2 degree bend	3	EA	No Bid	No Bid	\$600.00	\$1,800.00
10	6" - 90 degree bend	11	EA	No Bid	No Bid	\$650.00	\$7,150.00
11	6" - plug	2	EA	No Bid	No Bid	\$500.00	\$1,000.00
12	6" x 6" Tee	14	EA	No Bid	No Bid	\$775.00	\$10,850.00
13	6" x 4" Reducer	1	EA	No Bid	No Bid	\$585.00	\$585.00
14	4" x 2" Reducer	1	EA	No Bid	No Bid	\$550.00	\$550.00
15	8" Gate Valve	1	EA	No Bid	No Bid	\$1,400.00	\$1,400.00
16	6" Gate Valve	42	EA	No Bid	No Bid	\$1,000.00	\$42,000.00
17	4" Gate Valve	1	EA	No Bid	No Bid	\$850.00	\$850.00
18	16" x 6" Tapping Sleeve	2	EA	No Bid	No Bid	\$2,600.00	\$5,200.00
19	12" x 6" Tapping Sleeve	9	EA	No Bid	No Bid	\$2,200.00	\$19,800.00
20	12" x 8" Tapping Sleeve	1	EA	No Bid	No Bid	\$2,400.00	\$2,400.00
21	6" x 6" Tapping Sleeve	1	EA	No Bid	No Bid	\$2,025.00	\$2,025.00
22	Air Release Assembly	2	EA	No Bid	No Bid	\$1,900.00	\$3,800.00
23	2" Blowoff Assembly	2	EA	No Bid	No Bid	\$1,250.00	\$2,500.00

Bid Item	DECODIDATION	FOT OTV	Unit	Gregory Ele	ectric CO. Inc.	Harris-McE	Burney Company	Steele & A	ssociates, Inc.
No.	DESCRIPTION	EST. QTY.	Unit	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
24	Fire Hydrant Assembly	14	EA	\$2,687.92	\$37,630.88	\$3,565.86	\$49,922.04	\$3,080.00	\$43,120.00
25	Single (1") Meter Setting	242	EA	\$493.26	\$119,368.92	\$499.55	\$120,891.10	\$502.00	\$121,484.00
26	Double (1 1/2") Meter Setting	8	EA	\$980.80	\$7,846.40	\$927.00	\$7,416.00	\$630.00	\$5,040.00
27	2" Meter Replacements	12	EA	\$1,570.24	\$18,842.88	\$2,009.53	\$24,114.36	\$915.00	\$10,980.00
28	2" Casing for 1" Service Rd Crossing	130	EA	\$108.24	\$14,071.20	\$270.89	\$35,215.70	\$235.00	\$30,550.00
29	3" Casing for 1-1/2" Service Rd Crossing	1	EA	\$141.90	\$141.90	\$370.80	\$370.80	\$280.00	\$280.00
30	4" Casing for 2" Service Rd Crossing	2	EA	\$176.00	\$352.00	\$465.05	\$930.10 *	\$335.00	\$670.00
31	3/4" Service Line, New Meter to Existing Meter - Directional Bore	162	EA	\$326.53	\$52,897.86	\$337.84	\$54,730.08	\$310.00	\$50,220.00
32	Reconnection to Private Service	268	EA	\$172.47	\$46,221.96	\$638.60	\$171,144.80	\$170.00	\$45,560.00
33	Pavement Restoration	150	SY	\$40.50	\$6,075.00	\$63.86	\$9,579.00	\$50.00	\$7,500.00
34	Driveway Restoration - Asphalt	30	SY	\$38.25	\$1,147.50	\$55.62	\$1,668.60	\$50.00	\$1,500.00
35	Driveway Restoration - Concrete	70	SY	\$67.50	\$4,725.00	\$84.46	\$5,912.20	\$45.00	\$3,150.00
36	Connection to Existing Main	7	EA	\$345.00	\$2,415.00	\$2,610.02	\$18,270.14	\$1,100.00	\$7,700.00
37	Bollards	6	EA	\$210.00	\$1,260.00	\$297.67	\$1,786.02	\$185.00	\$1,110.00
38	Plug/Grout Fill 6" Water Main	8000	LF	\$0.30	\$2,400.00	\$2.47	\$19,760.00 *	\$3.45	\$27,600.00 *
39	Plug/Grout Fill 4" Water Main	6000	LF	\$0.25	\$1,500.00	\$2.37	\$14,220.00 *	\$3.65	\$21,900.00
40	Misc. Work and Cleanup	1	LS	\$4,900.00	\$4,900.00	\$29,588.81	\$29,588.81	\$25,000.00	\$25,000.00
41	Discretionary Work	1	LS		\$150,000.00		\$150,000.00		\$150,000.00
BID PRIC	E (Items 1 - 41)				\$822,684.71		\$1,084,355.53 *		\$1,138,969.00 *

Bid Item	DESCRIPTION	EST. QTY.	Unit	Infratech	Corporation	Spectrum Un	derground, Inc.	D.R. Sw	anson Co.
No.	DESCRIPTION	EST. QTY.	Unit	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
24	Fire Hydrant Assembly	14	EA	\$3,208.63	\$44,920.82 *	\$3,640.00	\$50,960.00	\$4,170.00	\$58,380.00
25	Single (1") Meter Setting	242	EA	\$670.66	\$162,299.72 *	\$878.00	\$212,476.00	\$800.00	\$193,600.00
26	Double (1 1/2") Meter Setting	8	EA	\$1,461.60	\$11,692.80	\$1,852.00	\$14,816.00	\$1,410.00	\$11,280.00
27	2" Meter Replacements	12	EA	\$2,309.29	\$27,711.48 *	\$2,255.00	\$27,060.00	\$1,690.00	\$20,280.00
28	2" Casing for 1" Service Rd Crossing	130	EA	\$434.21	\$56,447.30 *	\$194.50	\$25,285.00	\$437.00	\$56,810.00
29	3" Casing for 1-1/2" Service Rd Crossing	1	EA	\$1,122.72	\$1,122.72	\$598.00	\$598.00	\$524.00	\$524.00
30	4" Casing for 2" Service Rd Crossing	2	EA	\$1,286.59	\$2,573.18	\$612.00	\$1,224.00	\$1,323.00	\$2,646.00
31	3/4" Service Line, New Meter to Existing Meter - Directional Bore	162	EA	\$720.70	\$116,753.40 *	\$545.00	\$88,290.00	\$903.00	\$146,286.00
32	Reconnection to Private Service	268	EA	\$418.39	\$112,128.52 *	\$345.00	\$92,460.00	\$649.00	\$173,932.00
33	Pavement Restoration	150	SY	\$44.40	\$6,660.00	\$42.00	\$6,300.00	\$46.00	\$6,900.00
34	Driveway Restoration - Asphalt	30	SY	\$36.20	\$1,086.00	\$35.00	\$1,050.00	\$29.00	\$870.00
35	Driveway Restoration - Concrete	70	SY	\$49.50	\$3,465.00	\$66.00	\$4,620.00	\$52.00	\$3,640.00
36	Connection to Existing Main	7	EA	\$3,826.01	\$26,782.07 *	\$1,250.00	\$8,750.00	\$787.00	\$5,509.00
37	Bollards	6	EA	\$557.00	\$3,342.00	\$325.00	\$1,950.00	\$434.00	\$2,604.00
38	Plug/Grout Fill 6" Water Main	8000	LF	\$1.75	\$14,000.00	\$2.70	\$21,600.00	\$4.00	\$32,000.00
39	Plug/Grout Fill 4" Water Main	6000	LF	\$1.75	\$10,500.00	\$2.45	\$14,700.00	\$3.00	\$18,000.00
40	Misc. Work and Cleanup	1	LS	\$41,600.00	\$41,600.00	\$3,400.00	\$3,400.00	\$500.00	\$500.00
41	Discretionary Work	1	LS		\$150,000.00		\$150,000.00		\$150,000.00
BID PRICI	PRICE (Items 1 - 41)				\$1,140,958.62 *		\$1,162,220.75		\$1,236,802.00

Bid Item	DESCRIPTION	EST OTV	l loit	Volt Information	on Sciences, Inc.	Southeastern Comr	nunication Service, Inc.	Rusty Plumbing Co., Inc.	
No.	DESCRIPTION	EST. QTY.	Unit	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
24	Fire Hydrant Assembly	14	EA	\$4,158.00	\$58,212.00	\$4,162.95	\$58,281.30 *	\$3,200.00	\$44,800.00
25	Single (1") Meter Setting	242	EA	\$611.28	\$147,929.76	\$710.84	\$172,023.28 *	\$650.00	\$157,300.00
26	Double (1 1/2") Meter Setting	8	EA	\$920.16	\$7,361.28	\$1,637.93	\$13,103.44 *	\$750.00	\$6,000.00
27	2" Meter Replacements	12	EA	\$1,680.48	\$20,165.76	\$2,204.80	\$26,457.60 *	\$1,578.00	\$18,936.00
28	2" Casing for 1" Service Rd Crossing	130	EA	\$31.29	\$4,067.70	\$197.57	\$25,684.10	\$570.00	\$74,100.00
29	3" Casing for 1-1/2" Service Rd Crossing	1	EA	\$378.00	\$378.00	\$608.64	\$608.64	\$580.00	\$580.00
30	4" Casing for 2" Service Rd Crossing	2	EA	\$594.00	\$1,188.00	\$369.24	\$738.48	\$625.00	\$1,250.00
31	3/4" Service Line, New Meter to Existing Meter - Directional Bore	162	EA	\$594.00	\$96,228.00	\$220.81	\$35,771.22 *	\$1,195.00	\$193,590.00
32	Reconnection to Private Service	268	EA	\$978.48	\$262,232.64	\$140.76	\$37,723.68	\$500.00	\$134,000.00
33	Pavement Restoration	150	SY	\$63.18	\$9,477.00	\$107.74	\$16,161.00 *	\$35.00	\$5,250.00
34	Driveway Restoration - Asphalt	30	SY	\$52.38	\$1,571.40	\$115.12	\$3,453.60 *	\$35.00	\$1,050.00
35	Driveway Restoration - Concrete	70	SY	\$63.18	\$4,422.60	\$65.42	\$4,579.40 *	\$50.00	\$3,500.00
36	Connection to Existing Main	7	EA	\$1,369.44	\$9,586.08	\$2,581.04	\$18,067.28 *	\$750.00	\$5,250.00
37	Bollards	6	EA	\$166.32	\$997.92	\$649.67	\$3,898.02	\$275.00	\$1,650.00
38	Plug/Grout Fill 6" Water Main	8000	LF	\$7.71	\$61,680.00	\$1.60	\$12,800.00 *	\$5.00	\$40,000.00
39	Plug/Grout Fill 4" Water Main	6000	LF	\$6.63	\$39,780.00	\$0.77	\$4,620.00 *	\$4.00	\$24,000.00
40	Misc. Work and Cleanup	1	LS	\$12,214.19	\$12,214.19	\$45,825.61	\$45,825.61	\$15,000.00	\$15,000.00
41	Discretionary Work	1	LS		\$150,000.00		\$150,000.00		\$150,000.00
BID PRICI	PRICE (Items 1 - 41)				\$1,252,263.79		\$1,253,235.74 *		\$1,296,105.00

Bid Item	DESCRIPTION	EST. QTY.	Unit	Stellas Undergrou	und Contracting, Inc.	Westra Cons	truction Corp.	Stately Con	tractors, Inc.
No.	DESCRIPTION	EST. QTY.	Unit	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
24	Fire Hydrant Assembly	14	EA	\$3,904.00	\$54,656.00	\$3,650.00	\$51,100.00	\$3,930.00	\$55,020.00
25	Single (1") Meter Setting	242	EA	\$611.00	\$147,862.00	\$933.50	\$225,907.00	\$925.00	\$223,850.00
26	Double (1 1/2") Meter Setting	8	EA	\$940.00	\$7,520.00	\$1,508.00	\$12,064.00	\$1,650.00	\$13,200.00
27	2" Meter Replacements	12	EA	\$1,900.00	\$22,800.00	\$2,038.00	\$24,456.00	\$2,200.00	\$26,400.00
28	2" Casing for 1" Service Rd Crossing	130	EA	\$375.00	\$48,750.00	\$382.50	\$49,725.00	\$250.00	\$32,500.00
29	3" Casing for 1-1/2" Service Rd Crossing	1	EA	\$540.00	\$540.00	\$577.00	\$577.00	\$300.00	\$300.00
30	4" Casing for 2" Service Rd Crossing	2	EA	\$820.00	\$1,640.00	\$629.00	\$1,258.00	\$325.00	\$650.00
31	3/4" Service Line, New Meter to Existing Meter - Directional Bore	162	EA	\$945.00	\$153,090.00	\$524.00	\$84,888.00	\$825.00	\$133,650.00
32	Reconnection to Private Service	268	EA	\$457.00	\$122,476.00	\$475.00	\$127,300.00	\$513.00	\$137,484.00
33	Pavement Restoration	150	SY	\$65.00	\$9,750.00	\$30.50	\$4,575.00	\$50.00	\$7,500.00
34	Driveway Restoration - Asphalt	30	SY	\$49.00	\$1,470.00	\$30.50	\$915.00	\$50.00	\$1,500.00
35	Driveway Restoration - Concrete	70	SY	\$43.00	\$3,010.00	\$123.00	\$8,610.00	\$50.00	\$3,500.00
36	Connection to Existing Main	7	EA	\$1,998.00	\$13,986.00	\$1,205.00	\$8,435.00	\$1,500.00	\$10,500.00
37	Bollards	6	EA	\$250.00	\$1,500.00	\$285.00	\$1,710.00	\$300.00	\$1,800.00
38	Plug/Grout Fill 6" Water Main	8000	LF	\$4.85	\$38,800.00	\$2.90	\$23,200.00	\$2.70	\$21,600.00
39	Plug/Grout Fill 4" Water Main	6000	LF	\$2.70	\$16,200.00	\$2.35	\$14,100.00	\$2.15	\$12,900.00
40	Misc. Work and Cleanup	1	LS	\$62,640.00	\$62,640.00	\$80,000.00	\$80,000.00	\$91,260.00	\$91,260.00
41	Discretionary Work	1	LS		\$150,000.00		\$150,000.00		\$150,000.00
BID PRICE	E (Items 1 - 41)				\$1,347,724.00 *		\$1,351,654.50		\$1,366,204.00

Bid Item	DESCRIPTION	EST. QTY.	11-4	D.V.M. Ut	tilities, Inc.	Cornerstone E	Businesses, Inc.	Fountai	n Eng. Inc.
No.	DESCRIPTION	ESI. QIY.	Unit	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
24	Fire Hydrant Assembly	14	EA	\$3,890.00	\$54,460.00	\$4,217.00	\$59,038.00	\$4,260.41	\$59,645.74
25	Single (1") Meter Setting	242	EA	\$1,135.00	\$274,670.00	\$1,061.00	\$256,762.00	\$1,197.58	\$289,814.36
26	Double (1 1/2") Meter Setting	8	EA	\$1,765.00	\$14,120.00	\$1,750.00	\$14,000.00	\$2,332.36	\$18,658.88
27	2" Meter Replacements	12	EA	\$1,430.00	\$17,160.00	\$2,218.00	\$26,616.00	\$2,486.69	\$29,840.28
28	2" Casing for 1" Service Rd Crossing	130	EA	\$620.00	\$80,600.00	\$441.00	\$57,330.00	\$807.10	\$104,923.00
29	3" Casing for 1-1/2" Service Rd Crossing	1	EA	\$685.00	\$685.00	\$672.00	\$672.00	\$1,612.51	\$1,612.51
30	4" Casing for 2" Service Rd Crossing	2	EA	\$925.00	\$1,850.00	\$790.00	\$1,580.00	\$1,726.51	\$3,453.02
31	3/4" Service Line, New Meter to Existing Meter - Directional Bore	162	EA	\$360.00	\$58,320.00	\$526.00	\$85,212.00	\$850.00	\$137,700.00
32	Reconnection to Private Service	268	EA	\$225.00	\$60,300.00	\$569.00	\$152,492.00	\$775.00	\$207,700.00
33	Pavement Restoration	150	SY	\$45.00	\$6,750.00	\$61.00	\$9,150.00	\$45.00	\$6,750.00
34	Driveway Restoration - Asphalt	30	SY	\$50.00	\$1,500.00	\$61.00	\$1,830.00	\$35.00	\$1,050.00
35	Driveway Restoration - Concrete	70	SY	\$60.00	\$4,200.00	\$61.00	\$4,270.00	\$35.00	\$2,450.00
36	Connection to Existing Main	7	EA	\$1,500.00	\$10,500.00	\$3,085.00	\$21,595.00	\$25,000.00	\$175,000.00
37	Bollards	6	EA	\$500.00	\$3,000.00	\$610.00	\$3,660.00	\$200.00	\$1,200.00
38	Plug/Grout Fill 6" Water Main	8000	LF	\$4.75	\$38,000.00	\$6.70	\$53,600.00	\$2.50	\$20,000.00
39	Plug/Grout Fill 4" Water Main	6000	LF	\$3.50	\$21,000.00	\$4.90	\$29,400.00	\$2.50	\$15,000.00
40	Misc. Work and Cleanup	1	LS	\$50,000.00	\$50,000.00	\$16,560.00	\$16,560.00	\$25,500.00	\$25,500.00
41	Discretionary Work	1	LS		\$150,000.00		\$150,000.00		\$150,000.00
BID PRICE	E (Items 1 - 41)			\$1,410,633.50		\$1,459,551.00		\$1,841,348.07	

Bid Item	DESCRIPTION	EST. QTY.	Unit	Strickle	Bros, Inc.	R.A.W. Const	ruction, LLC**
No.	DESCRIPTION	EST. QTT.	Offic	Unit Price	Extended Price	Unit Price	Extended Price
24	Fire Hydrant Assembly	14	EA	No Bid	No Bid	\$2,800.00	\$39,200.00
25	Single (1") Meter Setting	242	EA	No Bid	No Bid	\$575.00	\$139,150.00
26	Double (1 1/2") Meter Setting	8	EA	No Bid	No Bid	\$625.00	\$5,000.00
27	2" Meter Replacements	12	EA	No Bid	No Bid	\$1,500.00	\$18,000.00
28	2" Casing for 1" Service Rd Crossing	130	EA	No Bid	No Bid	\$250.00	\$32,500.00
29	3" Casing for 1-1/2" Service Rd Crossing	1	EA	No Bid	No Bid	\$300.00	\$300.00
30	4" Casing for 2" Service Rd Crossing	2	EA	No Bid	No Bid	\$325.00	\$650.00
31	3/4" Service Line, New Meter to Existing Meter - Directional Bore	162	EA	No Bid	No Bid	\$225.00	\$36,450.00
32	Reconnection to Private Service	268	EA	No Bid	No Bid	\$125.00	\$33,500.00
33	Pavement Restoration	150	SY	No Bid	No Bid	\$63.00	\$9,450.00
34	Driveway Restoration - Asphalt	30	SY	No Bid	No Bid	\$58.00	\$1,740.00
35	Driveway Restoration - Concrete	70	SY	No Bid	No Bid	\$80.00	\$5,600.00
36	Connection to Existing Main	7	EA	No Bid	No Bid	\$1,400.00	\$9,800.00
37	Bollards	6	EA	No Bid	No Bid	-	-
38	Plug/Grout Fill 6" Water Main	8000	LF	No Bid	No Bid	\$7.00	\$56,000.00
39	Plug/Grout Fill 4" Water Main	6000	LF	No Bid	No Bid	\$6.00	\$36,000.00
40	Misc. Work and Cleanup	1	LS	No Bid	No Bid	\$25,000.00	\$25,000.00
41	Discretionary Work	1	LS		No Bid		\$150,000.00
BID PRICE	(Items 1 - 41)	· '			No Bid		Incomplete Bid **

Bid Item	DESCRIPTION	EST. QTY.	Unit	Gregory Ele	ctric CO. Inc.	Harris-McB	Burney Company	Steele & Associates, Inc.	
No.	DESCRIPTION EST. Q1		. 31111	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
	Acknowleged A	Addendum #	1		yes		yes		yes
	Acknowleged Addendum #2		2	yes			yes	yes	
	Florida Trench	h Safety Act		yes yes			yes		
	Contractor's Q	uestionnaire)		yes yes			yes	
	Drug Free Work P	lace Certifica	ation		ves ves		·		yes
Public Co	Public Contracting and Environmental Crimes Certification			yes			yes	ves	
	Bonds In	cluded			yes		yes		yes
	Site Visit C	onfirmed			yes		yes		yes

^{*} Price mathematically corrected in accordance with Information To Bidders, A.18

^{**} Determined to be Incomplete- No unit price provided for bid item 37.

Bid Item	DESCRIPTION	EST, QTY,	l lait	Infratech	Corporation	Spectrum Un	derground, Inc.	D.R. Sw	anson Co.
No.			Unit	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
	Acknowleged	Addendum #1			yes		yes		yes
	Acknowleged	Addendum #2			yes yes				yes
	Florida Trend	ch Safety Act			yes		yes		yes
	Contractor's (Questionnaire			yes		yes		yes
	Drug Free Work F	Place Certifica	tion		yes	yes		ye	
Public Co	Public Contracting and Environmental Crimes Certification			yes		yes		yes	
	Bonds I				yes		yes		yes
	Site Visit Confirmed			yes		yes		yes	

^{*} Price mathematically corrected in accordance with Information To Bidders, A.18

^{**} Determined to be Incomplete- No unit price provided for bid item 37.

Bid Item	DESCRIPTION	EST. QTY.	Unit	Volt Informatio	n Sciences, Inc.	Southeastern Comm	nunication Service, Inc.	Rusty Plumbing Co., Inc.	
No.	DESCRIPTION	ES1. Q11.	Offic	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
	Acknowleged A	Addendum #	1		yes		yes		yes
	Acknowleged Addendum #2		yes			yes		yes	
	Florida Trend	h Safety Act		"California wording "see submitted		yes			yes
	Contractor's C	Questionnaire	!		yes		yes	У	
	Drug Free Work F	lace Certifica	ation		yes		yes	ye.	
Public Co	Public Contracting and Environmental Crimes Certification			ves		ves			yes
	Bonds Ir				yes		yes		yes
	Site Visit Confirmed		yes		yes		yes		

^{*} Price mathematically corrected in accordance with Information To Bidders, A.18

^{**} Determined to be Incomplete- No unit price provided for bid item 37.

Bid Item	DESCRIPTION	EST. QTY.	Unit	Stellas Underground Contracting, Inc.		Westra Construction Corp.		Stately Contractors, Inc.		ıc.
No.	DESCRIPTION	E31. Q11.	Offic	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extend	led Price
	Acknowleged A	Addendum #	1		yes		yes		У	es es
	Acknowleged A	Addendum #	2		yes		yes		у	es es
	Florida Trenc	h Safety Act			yes		yes		у	es es
	Contractor's C	uestionnaire			yes		yes	incomplete did not	fill out	00430-
	Drug Free Work P	lace Certifica	ation		yes		yes		У	es es
Public Co	ontracting and Enviro	nmental Crin	nes Certification		yes		yes	incomplete did not	fill out	00491-
	Bonds Ir				yes		yes		у	es es
	Site Visit C	Confirmed			yes		yes		y	es es

^{*} Price mathematically corrected in accordance with Information To Bidders, A.18

^{**} Determined to be Incomplete- No unit price provided for bid item 37.

Bid Item	DESCRIPTION	FST OTV	l loit	D.V.M. U	tilities, Inc.	Cornerstone E	Businesses, Inc.	Fountain Eng. Inc.	
No.	DESCRIPTION	EST. QTY.	Unit	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
	Acknowleged A	ddendum #	1		yes		yes		yes
	Acknowleged Addendum #2		2	yes			yes		yes
	Florida Trencl	n Safety Act			yes		yes		yes
	Contractor's Q	uestionnaire			yes		yes		yes
	Drug Free Work P	lace Certifica	ation		yes		yes		yes
Public Co	Public Contracting and Environmental Crimes Certification		nes Certification	ves		yes			yes
	Bonds In	cluded			yes		yes		yes
	Site Visit C	onfirmed			N/A		yes		yes

^{*} Price mathematically corrected in accordance with Information To Bidders, A.18

^{**} Determined to be Incomplete- No unit price provided for bid item 37.

Bid Item	DESCRIPTION	EST. QTY.	Unit	Strickler	Bros, Inc.	R.A.W. Construction, LLC**		
No.	DESCRIPTION	E31. Q11.	Offic	Unit Price	Extended Price	Unit Price	Extended Price	
	Acknowleged A	ddendum #1			yes		yes	
	Acknowleged A	ddendum #2			yes			
	Florida Trench	n Safety Act			yes		yes	
	Contractor's Q	uestionnaire			yes		yes	
	Drug Free Work Pl	ace Certifica	tion		yes		yes	
Public Co	entracting and Enviror	nmental Crim	es Certification		yes		yes	
	Bonds In	cluded			yes		yes	
	Site Visit C	onfirmed			yes		yes	

* Price mathematically corrected in accordance with Information To Bidders, A.18

Keyed by on:

** Determined to be Incomplete- No unit price provided for bid item 37.

Checked by on:

Bid Item No.	DESCRIPTION	EST. QTY.	Unit	Gregory Elect	ric CO. Inc.	Harris-McBu	rney Company	Steele & Ass	ociates, Inc.
Bid item No.	DESCRIPTION	E31. Q11.	Offic	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
1	Mobilization	1	LF	\$67,000.00	\$67,000.00	\$27,600.00	\$27,600.00	\$113,029.00	\$113,029.00
2	8" HDPE (DR 11) Directional Bore	30	LF	\$29.39	\$881.70	\$30.00	\$900.00	\$50.00	\$1,500.00
3	6" HDPE (DR 11) Directional Bore	9450	LF	\$16.45	\$155,452.50	\$19.90	\$188,055.00	\$37.20	\$351,540.00
4	4" HDPE (DR 11) Directional Bore	80	LF	\$9.77	\$781.60	\$15.30	\$1,224.00	\$20.00	\$1,600.00
5	2" HDPE (DR 11) Directional Bore	750	LF	\$6.32	\$4,740.00	\$9.80	\$7,350.00	\$12.00	\$9,000.00
6	6" HDPE (DR 11) Open Cut	550	LF	\$9.90	\$5,445.00	\$16.95	\$9,322.50	\$21.00	\$11,550.00
7	8" - 45 degree bend	2	EA	\$439.47	\$878.94	\$467.00	\$934.00	\$475.00	\$950.00
8	6" - 45 degree bend	14	EA	\$387.57	\$5,425.98	\$580.00	\$8,120.00	\$305.00	\$4,270.00
9	6" - 22 1/2 degree bend	3	EA	\$429.47	\$1,288.41	\$580.00	\$1,740.00	\$305.00	\$915.00
10	6" - 90 degree bend	11	EA	\$443.25	\$4,875.75	\$648.00	\$7,128.00	\$315.00	\$3,465.00
11	6" - plug	2	EA	\$125.00	\$250.00	\$340.00	\$680.00	\$78.00	\$156.00
12	6" x 6" Tee	14	EA	\$724.80	\$10,147.20	\$1,172.00	\$16,408.00	\$610.00	\$8,540.00
13	6" x 4" Reducer	1	EA	\$368.00	\$368.00	\$562.00	\$562.00	\$270.00	\$270.00
14	4" x 2" Reducer	1	EA	\$374.94	\$374.94	\$294.00	\$294.00	\$155.00	\$155.00
15	8" Gate Valve	1	EA	\$1,339.46	\$1,339.46	\$1,750.00	\$1,750.00	\$1,320.00	\$1,320.00
16	6" Gate Valve	42	EA	\$946.88	\$39,768.96	\$1,140.00	\$47,880.00	\$930.00	\$39,060.00
17	4" Gate Valve	1	EA	\$876.24	\$876.24	\$1,080.00	\$1,080.00	\$755.00	\$755.00
18	16" x 6" Tapping Sleeve	2	EA	\$9,237.88	\$18,475.76	\$2,700.00	\$5,400.00	\$3,250.00	\$6,500.00
19	12" x 6" Tapping Sleeve	9	EA	\$2,373.22	\$21,358.98	\$2,300.00	\$20,700.00	\$2,310.00	\$20,790.00
20	12" x 8" Tapping Sleeve	1	EA	\$2,809.77	\$2,809.77	\$2,500.00	\$2,500.00	\$2,880.00	\$2,880.00
21	6" x 6" Tapping Sleeve	1	EA	\$2,047.16	\$2,047.16	\$2,400.00	\$2,400.00	\$1,850.00	\$1,850.00
22	Air Release Assembly	2	EA	\$1,857.34	\$3,714.68	\$2,100.00	\$4,200.00	\$1,875.00	\$3,750.00
23	2" Blowoff Assembly	2	EA	\$1,293.59	\$2,587.18	\$920.00	\$1,840.00	\$880.00	\$1,760.00

Bid Item No.	DESCRIPTION	EST. QTY.	Unit	Infratech (Corporation	Spectrum Und	erground, Inc.	Volt Information	on Sciences, Inc.
Bid item No.	DESCRIPTION	E31. Q11.	Offit	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
1	Mobilization	1	LF	\$25,000.00	\$25,000.00	\$68,490.00	\$68,490.00	\$2,000.00	\$2,000.00
2	8" HDPE (DR 11) Directional Bore	30	LF	\$42.22	\$1,266.60 *	\$53.00	\$1,590.00	\$38.00	\$1,140.00
3	6" HDPE (DR 11) Directional Bore	9450	LF	\$23.95	\$226,327.50 *	\$24.10	\$227,745.00	\$23.78	\$224,721.00
4	4" HDPE (DR 11) Directional Bore	80	LF	\$18.28	\$1,462.40 *	\$20.00	\$1,600.00	\$18.30	\$1,464.00
5	2" HDPE (DR 11) Directional Bore	750	LF	\$10.59	\$7,942.50 *	\$12.25	\$9,187.50	\$6.30	\$4,725.00
6	6" HDPE (DR 11) Open Cut	550	LF	\$15.30	\$8,415.00 *	\$21.00	\$11,550.00	\$12.20	\$6,710.00
7	8" - 45 degree bend	2	EA	\$335.40	\$670.80	\$475.00	\$950.00	\$364.00	\$728.00
8	6" - 45 degree bend	14	EA	\$369.20	\$5,168.80	\$471.00	\$6,594.00	\$461.00	\$6,454.00
9	6" - 22 1/2 degree bend	3	EA	\$370.54	\$1,111.62 *	\$486.25	\$1,458.75	\$432.00	\$1,296.00
10	6" - 90 degree bend	11	EA	\$375.52	\$4,130.72 *	\$476.50	\$5,241.50	\$487.30	\$5,360.30
11	6" - plug	2	EA	\$114.48	\$228.96	\$215.00	\$430.00	\$35.00	\$70.00
12	6" x 6" Tee	14	EA	\$409.80	\$5,737.20	\$712.50	\$9,975.00	\$876.15	\$12,266.10
13	6" x 4" Reducer	1	EA	\$458.99	\$458.99	\$439.00	\$439.00	\$421.35	\$421.35
14	4" x 2" Reducer	1	EA	\$150.48	\$150.48	\$231.00	\$231.00	\$131.12	\$131.12
15	8" Gate Valve	1	EA	\$1,333.20	\$1,333.20	\$1,498.00	\$1,498.00	\$1,505.65	\$1,505.65
16	6" Gate Valve	42	EA	\$974.79	\$40,941.18	\$1,119.00	\$46,998.00	\$987.35	\$41,468.70
17	4" Gate Valve	1	EA	\$720.54	\$720.54	\$884.00	\$884.00	\$856.34	\$856.34
18	16" x 6" Tapping Sleeve	2	EA	\$1,201.26	\$2,402.52	\$2,844.00	\$5,688.00	\$1,856.38	\$3,712.76
19	12" x 6" Tapping Sleeve	9	EA	\$926.60	\$8,339.40 *	\$2,762.00	\$24,858.00	\$1,689.34	\$15,204.06
20	12" x 8" Tapping Sleeve	1	EA	\$1,066.56	\$1,066.56	\$2,912.00	\$2,912.00	\$1,723.64	\$1,723.64
21	6" x 6" Tapping Sleeve	1	EA	\$671.22	\$671.22	\$2,492.00	\$2,492.00	\$1,569.78	\$1,569.78
22	Air Release Assembly	2	EA	\$1,506.60	\$3,013.20	\$1,987.00	\$3,974.00	\$1,568.96	\$3,137.92
23	2" Blowoff Assembly	2	EA	\$657.11	\$1,314.22	\$948.00	\$1,896.00	\$556.37	\$1,112.74

Bid Item No.	DESCRIPTION	EST. QTY.	Unit	D.R. Swar	nson Co.	Southeastern Comm	nunication Service, Inc.	Rusty Plum	bing Co., Inc.
bia item No.	DESCRIPTION	E31. Q11.	Offic	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
1	Mobilization	1	LF	\$22,570.00	\$22,570.00	\$137,982.20	\$137,982.20 *	\$15,056.00	\$15,056.00
2	8" HDPE (DR 11) Directional Bore	30	LF	\$40.10	\$1,203.00	\$82.47	\$2,474.10 *	\$55.50	\$1,665.00
3	6" HDPE (DR 11) Directional Bore	9450	LF	\$21.00	\$198,450.00	\$33.22	\$313,929.00 *	\$27.00	\$255,150.00
4	4" HDPE (DR 11) Directional Bore	80	LF	\$17.40	\$1,392.00	\$27.27	\$2,181.60 *	\$25.50	\$2,040.00
5	2" HDPE (DR 11) Directional Bore	750	LF	\$11.50	\$8,625.00	\$16.03	\$12,022.50 *	\$15.00	\$11,250.00
6	6" HDPE (DR 11) Open Cut	550	LF	\$20.80	\$11,440.00	\$19.06	\$10,483.00 *	\$15.00	\$8,250.00
7	8" - 45 degree bend	2	EA	\$199.00	\$398.00	\$463.90	\$927.80	\$275.00	\$550.00
8	6" - 45 degree bend	14	EA	\$157.00	\$2,198.00	\$847.75	\$11,868.50 *	\$240.00	\$3,360.00
9	6" - 22 1/2 degree bend	3	EA	\$165.00	\$495.00	\$294.89	\$884.67 *	\$240.00	\$720.00
10	6" - 90 degree bend	11	EA	\$157.00	\$1,727.00	\$394.50	\$4,339.50 *	\$240.00	\$2,640.00
11	6" - plug	2	EA	\$90.00	\$180.00	\$130.18	\$260.36	\$125.00	\$250.00
12	6" x 6" Tee	14	EA	\$396.00	\$5,544.00	\$652.72	\$9,138.08 *	\$490.00	\$6,860.00
13	6" x 4" Reducer	1	EA	\$141.00	\$141.00	\$568.92	\$568.92	\$175.00	\$175.00
14	4" x 2" Reducer	1	EA	\$98.00	\$98.00	\$244.29	\$244.29	\$150.00	\$150.00
15	8" Gate Valve	1	EA	\$1,430.00	\$1,430.00	\$1,351.54	\$1,351.54	\$1,500.00	\$1,500.00
16	6" Gate Valve	42	EA	\$1,130.00	\$47,460.00	\$1,227.72	\$51,564.24 *	\$1,125.00	\$47,250.00
17	4" Gate Valve	1	EA	\$920.00	\$920.00	\$784.76	\$784.76	\$840.00	\$840.00
18	16" x 6" Tapping Sleeve	2	EA	\$3,620.00	\$7,240.00	\$3,889.05	\$7,778.10 *	\$6,800.00	\$13,600.00
19	12" x 6" Tapping Sleeve	9	EA	\$3,000.00	\$27,000.00	\$4,296.19	\$38,665.71 *	\$3,650.00	\$32,850.00
20	12" x 8" Tapping Sleeve	1	EA	\$3,880.00	\$3,880.00	\$4,834.84	\$4,834.84	\$4,363.00	\$4,363.00
21	6" x 6" Tapping Sleeve	1	EA	\$2,670.00	\$2,670.00	\$4,745.02	\$4,745.02	\$2,830.00	\$2,830.00
22	Air Release Assembly	2	EA	\$3,020.00	\$6,040.00	\$2,436.11	\$4,872.22 *	\$3,500.00	\$7,000.00
23	2" Blowoff Assembly	2	EA	\$970.00	\$1,940.00	\$769.07	\$1,538.14	\$750.00	\$1,500.00

Bid Item No.	DESCRIPTION	EST. QTY.	Unit	Stellas Underg	round Contracting, Inc.	Westra Cons	truction Corp.	Stately Cor	ntractors, Inc.
Bid item No.	DESCRIPTION	EST. QTT.	Offic	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
1	Mobilization	1	LF	\$100,000.00	\$100,000.00	\$72,000.00	\$72,000.00	\$91,260.00	\$91,260.00
2	8" HDPE (DR 11) Directional Bore	30	LF	\$84.00	\$2,520.00	\$176.00	\$5,280.00	\$27.00	\$810.00
3	6" HDPE (DR 11) Directional Bore	9450	LF	\$21.70	\$205,065.00	\$26.15	\$247,117.50	\$20.50	\$193,725.00
4	4" HDPE (DR 11) Directional Bore	80	LF	\$28.55	\$2,284.00	\$46.45	\$3,716.00	\$18.50	\$1,480.00
5	2" HDPE (DR 11) Directional Bore	750	LF	\$15.00	\$11,250.00	\$10.80	\$8,100.00	\$11.00	\$8,250.00
6	6" HDPE (DR 11) Open Cut	550	LF	\$17.00	\$9,350.00	\$28.00	\$15,400.00	\$13.80	\$7,590.00
7	8" - 45 degree bend	2	EA	\$815.00	\$1,630.00	\$360.00	\$720.00	\$845.00	\$1,690.00
8	6" - 45 degree bend	14	EA	\$930.00	\$13,020.00	\$250.00	\$3,500.00	\$900.00	\$12,600.00
9	6" - 22 1/2 degree bend	3	EA	\$930.00	\$2,790.00	\$255.00	\$765.00	\$900.00	\$2,700.00
10	6" - 90 degree bend	11	EA	\$936.00	\$10,296.00	\$258.00	\$2,838.00	\$900.00	\$9,900.00
11	6" - plug	2	EA	\$486.00	\$972.00	\$79.00	\$158.00	\$700.00	\$1,400.00
12	6" x 6" Tee	14	EA	\$1,740.00	\$24,360.00	\$448.00	\$6,272.00	\$1,000.00	\$14,000.00
13	6" x 4" Reducer	1	EA	\$810.00	\$810.00	\$227.00	\$227.00	\$1,030.00	\$1,030.00
14	4" x 2" Reducer	1	EA	\$540.00	\$540.00	\$127.00	\$127.00	\$750.00	\$750.00
15	8" Gate Valve	1	EA	\$1,728.00	\$1,728.00	\$1,700.00	\$1,700.00	\$1,850.00	\$1,850.00
16	6" Gate Valve	42	EA	\$1,701.00	\$71,442.00	\$1,375.00	\$57,750.00	\$1,515.00	\$63,630.00
17	4" Gate Valve	1	EA	\$972.00	\$972.00	\$1,270.00	\$1,270.00	\$1,150.00	\$1,150.00
18	16" x 6" Tapping Sleeve	2	EA	\$2,754.00	\$5,508.00	\$4,052.00	\$8,104.00	\$1,880.00	\$3,760.00
19	12" x 6" Tapping Sleeve	9	EA	\$1,998.00	\$17,982.00	\$3,577.00	\$32,193.00	\$1,800.00	\$16,200.00
20	12" x 8" Tapping Sleeve	1	EA	\$2,322.00	\$2,322.00	\$4,160.00	\$4,160.00	\$1,940.00	\$1,940.00
21	6" x 6" Tapping Sleeve	1	EA	\$1,917.00	\$1,917.00	\$3,775.00	\$3,775.00	\$1,425.00	\$1,425.00
22	Air Release Assembly	2	EA	\$1,512.00	\$3,024.00	\$3,065.00	\$6,130.00	\$1,960.00	\$3,920.00
23	2" Blowoff Assembly	2	EA	\$626.00	\$1,252.00	\$766.00	\$1,532.00	\$765.00	\$1,530.00

Bid Item No.	DESCRIPTION	EST. QTY.	Unit	D.V.M. Ut	ilities, Inc.	Cornerstone B	usinesses, Inc.	Fountair	Eng. Inc.
Bid itelli ivo.	DESCRIPTION	E31. Q11.	Offit	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
1	Mobilization	1	LF	\$50,000.00	\$50,000.00	\$92,305.00	\$92,305.00	\$51,000.00	\$51,000.00
2	8" HDPE (DR 11) Directional Bore	30	LF	\$84.60	\$2,538.00	\$45.60	\$1,368.00	\$83.77	\$2,513.10
3	6" HDPE (DR 11) Directional Bore	9450	LF	\$34.35	\$324,607.50	\$24.90	\$235,305.00	\$29.77	\$281,326.50
4	4" HDPE (DR 11) Directional Bore	80	LF	\$29.80	\$2,384.00	\$19.90	\$1,592.00	\$26.55	\$2,124.00
5	2" HDPE (DR 11) Directional Bore	750	LF	\$22.00	\$16,500.00	\$14.10	\$10,575.00	\$9.68	\$7,260.00
6	6" HDPE (DR 11) Open Cut	550	LF	\$35.00	\$19,250.00	\$17.80	\$9,790.00	\$27.86	\$15,323.00
7	8" - 45 degree bend	2	EA	\$475.00	\$950.00	\$529.00	\$1,058.00	\$1,623.70	\$3,247.40
8	6" - 45 degree bend	14	EA	\$375.00	\$5,250.00	\$381.00	\$5,334.00	\$1,496.79	\$20,955.06
9	6" - 22 1/2 degree bend	3	EA	\$375.00	\$1,125.00	\$389.00	\$1,167.00	\$1,498.34	\$4,495.02
10	6" - 90 degree bend	11	EA	\$380.00	\$4,180.00	\$381.00	\$4,191.00	\$1,507.36	\$16,580.96
11	6" - plug	2	EA	\$127.00	\$254.00	\$351.00	\$702.00	\$1,176.64	\$2,353.28
12	6" x 6" Tee	14	EA	\$430.00	\$6,020.00	\$610.00	\$8,540.00	\$1,569.78	\$21,976.92
13	6" x 4" Reducer	1	EA	\$350.00	\$350.00	\$366.00	\$366.00	\$882.91	\$882.91
14	4" x 2" Reducer	1	EA	\$215.00	\$215.00	\$235.00	\$235.00	\$717.43	\$717.43
15	8" Gate Valve	1	EA	\$1,430.00	\$1,430.00	\$1,782.00	\$1,782.00	\$2,418.03	\$2,418.03
16	6" Gate Valve	42	EA	\$1,250.00	\$52,500.00	\$1,369.00	\$57,498.00	\$2,112.35	\$88,718.70
17	4" Gate Valve	1	EA	\$1,025.00	\$1,025.00	\$1,016.00	\$1,016.00	\$1,878.48	\$1,878.48
18	16" x 6" Tapping Sleeve	2	EA	\$5,200.00	\$10,400.00	\$5,488.00	\$10,976.00	\$4,362.08	\$8,724.16
19	12" x 6" Tapping Sleeve	9	EA	\$4,800.00	\$43,200.00	\$4,251.00	\$38,259.00	\$3,836.84	\$34,531.56
20	12" x 8" Tapping Sleeve	1	EA	\$5,560.00	\$5,560.00	\$5,028.00	\$5,028.00	\$4,594.46	\$4,594.46
21	6" x 6" Tapping Sleeve	1	EA	\$4,600.00	\$4,600.00	\$2,893.00	\$2,893.00	\$3,572.05	\$3,572.05
22	Air Release Assembly	2	EA	\$3,615.00	\$7,230.00	\$11,557.00	\$23,114.00	\$5,039.07	\$10,078.14
23	2" Blowoff Assembly	2	EA	\$1,975.00	\$3,950.00	\$1,345.00	\$2,690.00	\$2,889.56	\$5,779.12

Bid Item No.	DESCRIPTION	EST. QTY.	Unit	Strickler	Bros, Inc.	R.A.W. Const	ruction, LLC**
Did item No.	DESCRIPTION	L31. Q11.	Offic	Unit Price	Extended Price	Unit Price	Extended Price
1	Mobilization	1	LF	\$196,000.00	\$196,000.00	\$35,000.00	\$35,000.00
2	8" HDPE (DR 11) Directional Bore	30	LF	\$44.00	\$1,320.00	\$45.00	\$1,350.00
3	6" HDPE (DR 11) Directional Bore	9450	LF	\$39.00	\$368,550.00	\$25.00	\$236,250.00
4	4" HDPE (DR 11) Directional Bore	80	LF	\$36.00	\$2,880.00	\$23.00	\$1,840.00
5	2" HDPE (DR 11) Directional Bore	750	LF	\$20.00	\$15,000.00	\$17.00	\$12,750.00
6	6" HDPE (DR 11) Open Cut	550	LF	\$38.00	\$20,900.00	\$25.00	\$13,750.00
7	8" - 45 degree bend	2	EA	\$970.00	\$1,940.00	\$750.00	\$1,500.00
8	6" - 45 degree bend	14	EA	\$660.00	\$9,240.00	\$650.00	\$9,100.00
9	6" - 22 1/2 degree bend	3	EA	\$660.00	\$1,980.00	\$600.00	\$1,800.00
10	6" - 90 degree bend	11	EA	\$660.00	\$7,260.00	\$650.00	\$7,150.00
11	6" - plug	2	EA	\$180.00	\$360.00	\$500.00	\$1,000.00
12	6" x 6" Tee	14	EA	\$620.00	\$8,680.00	\$775.00	\$10,850.00
13	6" x 4" Reducer	1	EA	\$810.00	\$810.00	\$585.00	\$585.00
14	4" x 2" Reducer	1	EA	\$370.00	\$370.00	\$550.00	\$550.00
15	8" Gate Valve	1	EA	\$1,720.00	\$1,720.00	\$1,400.00	\$1,400.00
16	6" Gate Valve	42	EA	\$1,310.00	\$55,020.00	\$1,000.00	\$42,000.00
17	4" Gate Valve	1	EA	\$1,000.00	\$1,000.00	\$850.00	\$850.00
18	16" x 6" Tapping Sleeve	2	EA	\$4,100.00	\$8,200.00	\$2,600.00	\$5,200.00
19	12" x 6" Tapping Sleeve	9	EA	\$3,180.00	\$28,620.00	\$2,200.00	\$19,800.00
20	12" x 8" Tapping Sleeve	1	EA	\$3,330.00	\$3,330.00	\$2,400.00	\$2,400.00
21	6" x 6" Tapping Sleeve	1	EA	\$2,730.00	\$2,730.00	\$2,025.00	\$2,025.00
22	Air Release Assembly	2	EA	\$2,270.00	\$4,540.00	\$1,900.00	\$3,800.00
23	2" Blowoff Assembly	2	EA	\$1,290.00	\$2,580.00	\$1,250.00	\$2,500.00

Bid Item No.	DESCRIPTION	EST. QTY.	Unit	Gregory Ele	ectric CO. Inc.	Harris-McBu	rney Company	Steele & A	ssociates, Inc.
Did item NO.	DESCRIPTION	231. Q11.	Offit	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
24	Fire Hydrant Assembly	14	EA	\$2,687.92	\$37,630.88	\$3,462.00	\$48,468.00		\$0.00
25	Single (1") Meter Setting	242	EA	\$493.26	\$119,368.92	\$485.00	\$117,370.00		\$0.00
26	Double (1 1/2") Meter Setting	8	EA	\$980.80	\$7,846.40	\$900.00	\$7,200.00		\$0.00
27	2" Meter Replacements	12	EA	\$1,570.24	\$18,842.88	\$1,951.00	\$23,412.00		\$0.00
28	2" Casing for 1" Service Rd Crossing	130	EA	\$108.24	\$14,071.20	\$263.00	\$34,190.00		\$0.00
29	3" Casing for 1-1/2" Service Rd Crossing	1	EA	\$141.90	\$141.90	\$360.00	\$360.00		\$0.00
30	4" Casing for 2" Service Rd Crossing	2	EA	\$176.00	\$352.00	\$451.50	\$903.00		\$0.00
31	3/4" Service Line, New Meter to Existing Meter - Directional Bore	162	EA	\$326.53	\$52,897.86	\$328.00	\$53,136.00		\$0.00
32	Reconnection to Private Service	268	EA	\$172.47	\$46,221.96	\$620.00	\$166,160.00		\$0.00
33	Pavement Restoration	150	SY	\$40.50	\$6,075.00	\$62.00	\$9,300.00		\$0.00
34	Driveway Restoration - Asphalt	30	SY	\$38.25	\$1,147.50	\$54.00	\$1,620.00		\$0.00
35	Driveway Restoration - Concrete	70	SY	\$67.50	\$4,725.00	\$82.00	\$5,740.00		\$0.00
36	Connection to Existing Main	7	EA	\$345.00	\$2,415.00	\$2,534.00	\$17,738.00		\$0.00
37	Bollards	6	EA	\$210.00	\$1,260.00	\$289.00	\$1,734.00		\$0.00
38	Plug/Grout Fill 6" Water Main	8000	LF	\$0.30	\$2,400.00	\$2.40	\$19,200.00		\$0.00
39	Plug/Grout Fill 4" Water Main	6000	LF	\$0.25	\$1,500.00	\$2.30	\$13,800.00		\$0.00
40	Misc. Work and Cleanup	1	LS	\$4,900.00	\$4,900.00	\$28,727.00	\$28,727.00		\$0.00
41	Discretionary Work	1	LS		\$150,000.00		\$150,000.00		\$150,000.00
TOTAL BAS	SE BID PRICE (Items 1 - 41)				\$822,684.71		\$1,057,125.50		Incomplete Bid

Bid Item No.	DESCRIPTION	EST. QTY.	Unit	Infratech	Corporation	Spectrum Und	derground, Inc.	Volt Informatio	n Sciences, Inc.
Did item 140.	DESCRIPTION	LOT. QTT.	Offit	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
24	Fire Hydrant Assembly	14	EA	\$3,208.63	\$44,920.82 *	\$3,640.00	\$50,960.00	\$3,850.00	\$53,900.00
25	Single (1") Meter Setting	242	EA	\$670.66	\$162,299.72 *	\$878.00	\$212,476.00	\$566.00	\$136,972.00
26	Double (1 1/2") Meter Setting	8	EA	\$1,461.60	\$11,692.80	\$1,852.00	\$14,816.00	\$852.00	\$6,816.00
27	2" Meter Replacements	12	EA	\$2,309.29	\$27,711.48 *	\$2,255.00	\$27,060.00	\$1,556.00	\$18,672.00
28	2" Casing for 1" Service Rd Crossing	130	EA	\$434.21	\$56,447.30 *	\$194.50	\$25,285.00	\$28.97	\$3,766.10
29	3" Casing for 1-1/2" Service Rd Crossing	1	EA	\$1,122.72	\$1,122.72	\$598.00	\$598.00	\$350.00	\$350.00
30	4" Casing for 2" Service Rd Crossing	2	EA	\$1,286.59	\$2,573.18	\$612.00	\$1,224.00	\$550.00	\$1,100.00
	3/4" Service Line, New Meter to Existing Meter - Directional Bore	162	EA	\$720.70	\$116,753.40 *	\$545.00	\$88,290.00	\$550.00	\$89,100.00
32	Reconnection to Private Service	268	EA	\$418.39	\$112,128.52 *	\$345.00	\$92,460.00	\$906.00	\$242,808.00
33	Pavement Restoration	150	SY	\$44.40	\$6,660.00	\$42.00	\$6,300.00	\$58.50	\$8,775.00
34	Driveway Restoration - Asphalt	30	SY	\$36.20	\$1,086.00	\$35.00	\$1,050.00	\$48.50	\$1,455.00
35	Driveway Restoration - Concrete	70	SY	\$49.50	\$3,465.00	\$66.00	\$4,620.00	\$58.50	\$4,095.00
36	Connection to Existing Main	7	EA	\$3,826.01	\$26,782.07 *	\$1,250.00	\$8,750.00	\$1,268.00	\$8,876.00
37	Bollards	6	EA	\$557.00	\$3,342.00	\$325.00	\$1,950.00	\$154.00	\$924.00
38	Plug/Grout Fill 6" Water Main	8000	LF	\$1.75	\$14,000.00	\$2.70	\$21,600.00	\$7.14	\$57,120.00
39	Plug/Grout Fill 4" Water Main	6000	LF	\$1.75	\$10,500.00	\$2.45	\$14,700.00	\$6.14	\$36,840.00
40	Misc. Work and Cleanup	1	LS	\$41,600.00	\$41,600.00	\$3,400.00	\$3,400.00	\$11,309.44	\$11,309.44
41	Discretionary Work	1	LS		\$150,000.00		\$150,000.00		\$150,000.00
TOTAL BAS	SE BID PRICE (Items 1 - 41)				\$1,140,958.62 *		\$1,162,220.75		\$1,170,657.00

Bid Item No.	DESCRIPTION	EST. QTY.	Unit	D.R. Sw	anson Co.	Southeastern Com	munication Service, Inc.	Rusty Plum	bing Co., Inc.
Bid item No.	DESCRIPTION	ESI. QII.	Offic	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
24	Fire Hydrant Assembly	14	EA	\$4,170.00	\$58,380.00	\$4,162.95	\$58,281.30 *	\$3,200.00	\$44,800.00
25	Single (1") Meter Setting	242	EA	\$800.00	\$193,600.00	\$710.84	\$172,023.28 *	\$650.00	\$157,300.00
26	Double (1 1/2") Meter Setting	8	EA	\$1,410.00	\$11,280.00	\$1,637.93	\$13,103.44 *	\$750.00	\$6,000.00
27	2" Meter Replacements	12	EA	\$1,690.00	\$20,280.00	\$2,204.80	\$26,457.60 *	\$1,578.00	\$18,936.00
28	2" Casing for 1" Service Rd Crossing	130	EA	\$437.00	\$56,810.00	\$197.57	\$25,684.10	\$570.00	\$74,100.00
29	3" Casing for 1-1/2" Service Rd Crossing	1	EA	\$524.00	\$524.00	\$608.64	\$608.64	\$580.00	\$580.00
30	4" Casing for 2" Service Rd Crossing	2	EA	\$1,323.00	\$2,646.00	\$369.24	\$738.48	\$625.00	\$1,250.00
31	3/4" Service Line, New Meter to Existing Meter - Directional Bore	162	EA	\$903.00	\$146,286.00	\$220.81	\$35,771.22 *	\$1,195.00	\$193,590.00
32	Reconnection to Private Service	268	EA	\$649.00	\$173,932.00	\$140.76	\$37,723.68	\$500.00	\$134,000.00
33	Pavement Restoration	150	SY	\$46.00	\$6,900.00	\$107.74	\$16,161.00 *	\$35.00	\$5,250.00
34	Driveway Restoration - Asphalt	30	SY	\$29.00	\$870.00	\$115.12	\$3,453.60 *	\$35.00	\$1,050.00
35	Driveway Restoration - Concrete	70	SY	\$52.00	\$3,640.00	\$65.42	\$4,579.40 *	\$50.00	\$3,500.00
36	Connection to Existing Main	7	EA	\$787.00	\$5,509.00	\$2,581.04	\$18,067.28 *	\$750.00	\$5,250.00
37	Bollards	6	EA	\$434.00	\$2,604.00	\$649.67	\$3,898.02	\$275.00	\$1,650.00
38	Plug/Grout Fill 6" Water Main	8000	LF	\$4.00	\$32,000.00	\$1.60	\$12,800.00 *	\$5.00	\$40,000.00
39	Plug/Grout Fill 4" Water Main	6000	LF	\$3.00	\$18,000.00	\$0.77	\$4,620.00 *	\$4.00	\$24,000.00
40	Misc. Work and Cleanup	1	LS	\$500.00	\$500.00	\$45,825.61	\$45,825.61	\$15,000.00	\$15,000.00
41	Discretionary Work	1	LS		\$150,000.00		\$150,000.00		\$150,000.00
TOTAL BAS	SE BID PRICE (Items 1 - 41)				\$1,236,802.00		\$1,253,235.74 *		\$1,296,105.00

Bid Item No.	DESCRIPTION	EST. QTY.	Unit	Stellas Underg	round Contracting, Inc.	Westra Cons	struction Corp.	Stately Con	tractors, Inc.
Bid item No.	DESCRIPTION	E31. Q11.	Offic	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
24	Fire Hydrant Assembly	14	EA	\$3,904.00	\$54,656.00	\$3,650.00	\$51,100.00	\$3,930.00	\$55,020.00
25	Single (1") Meter Setting	242	EA	\$611.00	\$147,862.00	\$933.50	\$225,907.00	\$925.00	\$223,850.00
26	Double (1 1/2") Meter Setting	8	EA	\$940.00	\$7,520.00	\$1,508.00	\$12,064.00	\$1,650.00	\$13,200.00
27	2" Meter Replacements	12	EA	\$1,900.00	\$22,800.00	\$2,038.00	\$24,456.00	\$2,200.00	\$26,400.00
28	2" Casing for 1" Service Rd Crossing	130	EA	\$375.00	\$48,750.00	\$382.50	\$49,725.00	\$250.00	\$32,500.00
29	3" Casing for 1-1/2" Service Rd Crossing	1	EA	\$540.00	\$540.00	\$577.00	\$577.00	\$300.00	\$300.00
30	4" Casing for 2" Service Rd Crossing	2	EA	\$820.00	\$1,640.00	\$629.00	\$1,258.00	\$325.00	\$650.00
31	3/4" Service Line, New Meter to Existing Meter - Directional Bore	162	EA	\$945.00	\$153,090.00	\$524.00	\$84,888.00	\$825.00	\$133,650.00
32	Reconnection to Private Service	268	EA	\$457.00	\$122,476.00	\$475.00	\$127,300.00	\$513.00	\$137,484.00
33	Pavement Restoration	150	SY	\$65.00	\$9,750.00	\$30.50	\$4,575.00	\$50.00	\$7,500.00
34	Driveway Restoration - Asphalt	30	SY	\$49.00	\$1,470.00	\$30.50	\$915.00	\$50.00	\$1,500.00
35	Driveway Restoration - Concrete	70	SY	\$43.00	\$3,010.00	\$123.00	\$8,610.00	\$50.00	\$3,500.00
36	Connection to Existing Main	7	EA	\$1,998.00	\$13,986.00	\$1,205.00	\$8,435.00	\$1,500.00	\$10,500.00
37	Bollards	6	EA	\$250.00	\$1,500.00	\$285.00	\$1,710.00	\$300.00	\$1,800.00
38	Plug/Grout Fill 6" Water Main	8000	LF	\$4.85	\$38,800.00	\$2.90	\$23,200.00	\$2.70	\$21,600.00
39	Plug/Grout Fill 4" Water Main	6000	LF	\$2.70	\$16,200.00	\$2.35	\$14,100.00	\$2.15	\$12,900.00
40	Misc. Work and Cleanup	1	LS	\$62,640.00	\$62,640.00	\$80,000.00	\$80,000.00	\$91,260.00	\$91,260.00
41	Discretionary Work	1	LS		\$150,000.00		\$150,000.00		\$150,000.00
TOTAL BAS	SE BID PRICE (Items 1 - 41)				\$1,347,724.00 *		\$1,351,654.50		\$1,366,204.00

Bid Item No.	DESCRIPTION	EST. QTY.	Unit	D.V.M. Ut	ilities, Inc.	Cornerstone B	susinesses, Inc.	Fountair	n Eng. Inc.
Bid itelli No.	DESCRIPTION	EST. QTT.	Offit	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
24	Fire Hydrant Assembly	14	EA	\$3,890.00	\$54,460.00	\$4,217.00	\$59,038.00	\$4,260.41	\$59,645.74
25	Single (1") Meter Setting	242	EA	\$1,135.00	\$274,670.00	\$1,061.00	\$256,762.00	\$1,197.58	\$289,814.36
26	Double (1 1/2") Meter Setting	8	EA	\$1,765.00	\$14,120.00	\$1,750.00	\$14,000.00	\$2,332.36	\$18,658.88
27	2" Meter Replacements	12	EA	\$1,430.00	\$17,160.00	\$2,218.00	\$26,616.00	\$2,486.69	\$29,840.28
28	2" Casing for 1" Service Rd Crossing	130	EA	\$620.00	\$80,600.00	\$441.00	\$57,330.00	\$807.10	\$104,923.00
29	3" Casing for 1-1/2" Service Rd Crossing	1	EA	\$685.00	\$685.00	\$672.00	\$672.00	\$1,612.51	\$1,612.51
30	4" Casing for 2" Service Rd Crossing	2	EA	\$925.00	\$1,850.00	\$790.00	\$1,580.00	\$1,726.51	\$3,453.02
31	3/4" Service Line, New Meter to Existing Meter - Directional Bore	162	EA	\$360.00	\$58,320.00	\$526.00	\$85,212.00	\$850.00	\$137,700.00
32	Reconnection to Private Service	268	EA	\$225.00	\$60,300.00	\$569.00	\$152,492.00	\$775.00	\$207,700.00
33	Pavement Restoration	150	SY	\$45.00	\$6,750.00	\$61.00	\$9,150.00	\$45.00	\$6,750.00
34	Driveway Restoration - Asphalt	30	SY	\$50.00	\$1,500.00	\$61.00	\$1,830.00	\$35.00	\$1,050.00
35	Driveway Restoration - Concrete	70	SY	\$60.00	\$4,200.00	\$61.00	\$4,270.00	\$35.00	\$2,450.00
36	Connection to Existing Main	7	EA	\$1,500.00	\$10,500.00	\$3,085.00	\$21,595.00	\$25,000.00	\$175,000.00
37	Bollards	6	EA	\$500.00	\$3,000.00	\$610.00	\$3,660.00	\$200.00	\$1,200.00
38	Plug/Grout Fill 6" Water Main	8000	LF	\$4.75	\$38,000.00	\$6.70	\$53,600.00	\$2.50	\$20,000.00
39	Plug/Grout Fill 4" Water Main	6000	LF	\$3.50	\$21,000.00	\$4.90	\$29,400.00	\$2.50	\$15,000.00
40	Misc. Work and Cleanup	1	LS	\$50,000.00	\$50,000.00	\$16,560.00	\$16,560.00	\$25,500.00	\$25,500.00
41	Discretionary Work	1	LS		\$150,000.00		\$150,000.00		\$150,000.00
TOTAL BAS	SE BID PRICE (Items 1 - 41)				\$1,410,633.50		\$1,459,551.00		\$1,841,348.07

Bid Item No.	DESCRIPTION	EST. QTY.	Unit	Strickler	Bros, Inc.	R.A.W. Cor	nstruction, LLC**
Dia italii 140.	BEGORII TION	LO1. Q11.	Offic	Unit Price	Extended Price	Unit Price	Extended Price
24	Fire Hydrant Assembly	14	EA	\$3,850.00	\$53,900.00	\$2,800.00	\$39,200.00
25	Single (1") Meter Setting	242	EA	\$1,360.00	\$329,120.00	\$575.00	\$139,150.00
26	Double (1 1/2") Meter Setting	8	EA	\$2,140.00	\$17,120.00	\$625.00	\$5,000.00
27	2" Meter Replacements	12	EA	\$3,500.00	\$42,000.00	\$1,500.00	\$18,000.00
28	2" Casing for 1" Service Rd Crossing	130	EA	\$700.00	\$91,000.00	\$250.00	\$32,500.00
29	3" Casing for 1-1/2" Service Rd Crossing	1	EA	\$980.00	\$980.00	\$300.00	\$300.00
30	4" Casing for 2" Service Rd Crossing	2	EA	\$1,360.00	\$2,720.00	\$325.00	\$650.00
31	3/4" Service Line, New Meter to Existing Meter - Directional Bore	162	EA	\$1,320.00	\$213,840.00	\$225.00	\$36,450.00
32	Reconnection to Private Service	268	EA	\$490.00	\$131,320.00	\$125.00	\$33,500.00
33	Pavement Restoration	150	SY	\$70.00	\$10,500.00	\$63.00	\$9,450.00
34	Driveway Restoration - Asphalt	30	SY	\$82.00	\$2,460.00	\$58.00	\$1,740.00
35	Driveway Restoration - Concrete	70	SY	\$130.00	\$9,100.00	\$80.00	\$5,600.00
36	Connection to Existing Main	7	EA	\$1,480.00	\$10,360.00	\$1,400.00	\$9,800.00
37	Bollards	6	EA	\$520.00	\$3,120.00	-	-
38	Plug/Grout Fill 6" Water Main	8000	LF	\$20.00	\$160,000.00	\$7.00	\$56,000.00
39	Plug/Grout Fill 4" Water Main	6000	LF	\$20.00	\$120,000.00	\$6.00	\$36,000.00
40	Misc. Work and Cleanup	1	LS	\$51,350.00	\$51,350.00	\$25,000.00	\$25,000.00
41	Discretionary Work	1	LS		\$150,000.00		\$150,000.00
OTAL BAS	SE BID PRICE (Items 1 - 41)				\$2,141,920.00		Incomplete Bid **

Bid Item No.	DESCRIPTION	EST. QTY.	Unit	Gregory Ele	ctric CO. Inc.	Harris-McBu	rney Company	Steele & A	ssociates, Inc.
Did itom i to	52001 1.0.1	2011 (2111	O.I.I.	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
	Acknowleged	Addendum #1			yes		yes		yes
	Acknowleged	Addendum #2			yes		yes		yes
	Florida Tren	ch Safety Act			yes		yes		yes
	Contractor's	Questionnaire			yes		yes		yes
	Drug Free Work	Place Certification	on		yes		yes		yes
Public	Contracting and Envir	onmental Crime	s Certification		yes		yes		yes
	Bonds	Included			yes		yes		yes
	Site Visit	Confirmed			yes		yes		yes

^{*} Price mathematically corrected in accordance with Information To Bidders, A.18

^{**} Determined to be Incomplete- No unit price provided for bid item 37.

Bid Item No.	DESCRIPTION	EST. QTY.	Unit	Infratech	Corporation	Spectrum Un	derground, Inc.	Volt Information	on Sciences, Inc.
Did itom ito	52001 11011	2011 (1111	J	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
	Acknowleged	Addendum #1			yes		yes		yes
	Acknowleged	Addendum #2			yes		yes		yes
	Florida Trer	nch Safety Act			yes		yes	"California wording "s	ee submitted document.
	Contractor's	Questionnaire			yes		yes		yes
	Drug Free Work				yes		yes		yes
Public	Contracting and Envi	ronmental Crimes	S Certification		yes		yes		yes
	Bonds	Included			yes		yes		yes
	Site Visit	Confirmed			yes		yes		yes

^{*} Price mathematically corrected in accordance with Information To Bidders, A.18

^{**} Determined to be Incomplete- No unit price provided for bid item 37.

Bid Item No.	Bid Item No. DESCRIPTION	EST. QTY.	Unit	D.R. Swa	anson Co.	Southeastern Commu	nication Service, Inc.	Rusty Plumi	bing Co., Inc.
Dia nomino	22001 1.011	2011 (1111	J.III	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
	Acknowleged	Addendum #1			yes		yes		yes
	Acknowleged	Addendum #2			yes		yes		yes
	Florida Tren	ch Safety Act			yes		yes		yes
	Contractor's	Questionnaire			yes		yes		yes
	Drug Free Work	Place Certification	n		yes		yes		yes
Public	Contracting and Envir	onmental Crimes	S Certification		yes		yes		yes
	Bonds	Included			yes		yes		yes
	Site Visit	Confirmed			yes		yes		yes

^{*} Price mathematically corrected in accordance with Information To Bidders, A.18

^{**} Determined to be Incomplete- No unit price provided for bid item 37.

Bid Item No.	DESCRIPTION	EST. QTY.	Unit	Stellas Underg	ound Contracting, Inc.	Westra Cons	struction Corp.	Stately Cont	ractors, Inc.
Bid Rolli No.	BEGGIAII FIGIA	201. 011.	O'III	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
	Acknowleged	Addendum #1			yes		yes		yes
	Acknowleged	Addendum #2			yes		yes		yes
	Florida Tren	ch Safety Act			yes		yes		yes
	Contractor's	Questionnaire			yes		yes	incomplete did not f	ill out 00430-3
	Drug Free Work	Place Certification	on		yes		yes		yes
Public	Contracting and Envir	onmental Crime	s Certification		yes		yes	incomplete did not f	ill out 00491-4
	Bonds	Included			yes		yes		yes
	Site Visit	Confirmed			yes		yes		yes

^{*} Price mathematically corrected in accordance with Information To Bidders, A.18

^{**} Determined to be Incomplete- No unit price provided for bid item 37.

Bid Item No.	DESCRIPTION	EST. QTY.	Unit	D.V.M. Ut	ilities, Inc.	Cornerstone B	usinesses, Inc.	Fountain Eng. Inc.	
Bid Roill 140.	BEGGIAII FIGIA	201. 011.	Offic	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
	Acknowleged	Addendum #1			yes		yes		yes
	Acknowleged	Addendum #2			yes		yes		yes
	Florida Tren	ch Safety Act			yes		yes		yes
	Contractor's	Questionnaire			yes		yes		yes
	Drug Free Work	Place Certification	n		yes		yes		yes
Public	Public Contracting and Environmental Crimes Certification		s Certification		yes		yes		yes
	Bonds	Included			yes		yes		yes
	Site Visit	Confirmed			N/A		yes		yes

^{*} Price mathematically corrected in accordance with Information To Bidders, A.18

^{**} Determined to be Incomplete- No unit price provided for bid item 37.

Bid Item No.	DESCRIPTION	EST. QTY.	Unit	Strickler	Bros, Inc.	R.A.W. Cons	struction, LLC**
Dia Rom No.	BEGORIII TION	201. 011.	O.I.I.	Unit Price	Extended Price	Unit Price	Extended Price
	Acknowleged	Addendum #1			yes		yes
	Acknowleged	Addendum #2			yes		yes
	Florida Trend	ch Safety Act			yes		yes
	Contractor's (Questionnaire			yes		yes
	Drug Free Work F	Place Certification	n		yes		yes
Public	Contracting and Enviro	onmental Crime	Certification		yes		yes
	Bonds I	ncluded			yes		yes
	Site Visit (Confirmed			yes		yes

* Price mathematically corrected in accordance with Information To Bidders, A.18

Keyed by on:

** Determined to be Incomplete- No unit price provided for bid item 37.

Checked by on:

Trailer Estates Phase VI - Water System Improvements Bid Summary Bid Opening on May 7, 2009

Contractor	Bid Price "A"	Bid Price "B"
Gregory Elec. Company, Inc.	\$822,684.71	\$822,684.71
Harris-McBurney Company	\$1,084,355.53 *	\$1,057,125.50
Steele and Associates, Inc.	\$1,138,969.00 *	Incomplete Bid
Infratech Corporation	\$1,140,958.62 *	\$1,140,958.62 *
Spectrum Underground, Inc.	\$1,162,220.75	\$1,162,220.75
D.R. Swanson Company	\$1,236,802.00	\$1,236,802.00
Volt Information Sciences, Inc.	\$1,252,263.79	\$1,170,657.00
Southeastern Communication Service, Inc.	\$1,253,235.74 *	\$1,253,235.74 *
Rusty Plumbing Company, Inc.	\$1,296,105.00	\$1,296,105.00
Stellas Underground Contracting, Inc.	\$1,347,724.00 *	\$1,347,724.00 *
Westra Construction Corporation	\$1,351,654.50	\$1,351,654.50
Stately Contractors, Inc.	\$1,366,204.00	\$1,366,204.00
D.V.M. Utilities, Inc.	\$1,410,633.50	\$1,410,633.50
Cornerstone Businesses, Inc.	\$1,459,551.00	\$1,459,551.00
Fountain Engineering, Inc.	\$1,841,348.07	\$1,841,348.07
Strickler Bros, Inc.	No Bid	\$2,141,920.00
R.A.W. Construction, LLC	Incomplete bid ** Item # 37 N/B	Incomplete bid Item # 37 N/B

^{*} Price mathematically corrected in accordance with Information To Bidders, A.18

^{**} Determined to be Incomplete- No unit price provided for bid item 37.